
Spiel 1 Spiel 2 Gesamt

Spiel 399 19:05 A 1 TEMPER Manfred 59 + 58 = 117 O # #

A 2 KILLINGER Patrick 54 + 45 = 99 #

Spiel 397 18:49 A 3 AIGNER Ernst 46 + 55 = 101 #

A 4 JURKOWITSCH Thomas 39 + 58 = 97 #

Spiel 401 19:18 A 5 REICHENBERGER Peter 58 + 47 = 105 # O

A 1 TEMPER Manfred 60 + 57 = 117 #

Spiel 402 19:28 A 2 KILLINGER Patrick 46 + 53 = 99

A 3 AIGNER Ernst 55 + 46 = 101

Spiel 404 19:43 A 4 JURKOWITSCH Thomas 43 + 45 = 88 O

A 5 REICHENBERGER Peter 55 + 41 = 96 #

Spiel 405 19:52 A 1 TEMPER Manfred 54 + 48 = 102 # O

A 3 AIGNER Ernst 47 + 48 = 95 #

Spiel 407 20:07 A 2 KILLINGER Patrick 53 + 49 = 102 #

A 4 JURKOWITSCH Thomas 35 + 57 = 92 #

Spiel 408 20:14 A 3 AIGNER Ernst 55 + 43 = 98 #

A 5 REICHENBERGER Peter 62 + 36 = 98 #

Spiel 411 20:40 A 4 JURKOWITSCH Thomas 43 + 60 = 103 O

A 1 TEMPER Manfred 49 + 63 = 112 O #

Spiel 412 20:48 A 5 REICHENBERGER Peter 51 + 49 = 100

A 2 KILLINGER Patrick 46 + 55 = 101


